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Four types of conditional argument can be represented with a syllogism—arguments that 
affirm or deny the antecedent and those that affirm or deny the consequent. Which of these 
four types of argument are valid, and which are invalid? Recall that a valid argument is one 
such that if you accept that the premises are true, then you are compelled to accept the con-
clusion as true. Let’s start by considering what happens when we affirm the antecedent. An 
example is shown in Table 2.2.

The major premise states, “If P is true, then Q must be true.” The minor premise says that 
“P is true.” Together, these premises compel us to accept that the conclusion is true. As a 
result, the argument is valid. In other words, the major premise states, “If a country is 
wealthy [antecedent], then it will be a democracy [consequent].” The minor premise says, 
“The observed country is wealthy.” It logically follows from this that the observed country 
must be a democracy. To see why this type of argument is valid, consider the general form 
of this argument in set-theoretic form. This is shown in Figure 2.1. The major premise indi-
cates that the set of cases where P occurs is a subset of the cases where Q occurs. The minor 
premise maintains that P does occur. Figure 2.1 clearly shows that if the case in question is 
in P, as the minor premise affirms, then the case must also be in Q. Thus, the argument is 
valid—we are compelled to conclude Q.

	 General form	 Specific example

Major premise	 If P, then Q	 If a country is wealthy, then it will be a democracy.
Minor premise	 P	 The country is wealthy.

Conclusion	 Therefore, Q.	 Therefore, the country will be a democracy.

Affirming the Antecedent: A Valid ArgumentTable  2.2
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